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301921 anhs ule ghjw)hu Q< hwitn 96 9600 100
30192121 qnhs ule Q< Zwin 54 5400 100
30192130 duwinpun ule q< Lwin 35 8400 240
39241210 dlypwn Q< hwin 250 6250 25
30197321 utntiuybp Q< hwwn 1200 72000 60
30197231 Sw) wninuhnud 100 hwn Q< wnnuh 800 80000 100
30197220 wipwl unynpuljwls (uypbiy) QL wnif 65 9750 150
30197220 wdpwly ul QL tnuh 10 3300 30
24911300 ununbd gnp- quitiwdh Q< huwin 150 15000 100
31681800 huwayhs q< huin 2000 20000 10
39131100 prrwnwpwl (Enwhwply ) Q< hwin 2500 25000 10
39241141 nbquly Luphs Qg huwtn 132 2640 20
30197235 phRWWYwUwY ntghuny Q< hwn 351 35100 100
30197234 EnEuuwbwl nbghunp L hwtn 700 105000 150
30197235 WUy Yndgud < hwin 70 14000 200
22851200 prEwuwiwy (quuywiwlnyg) wpwguijw G huwn 320 32000 100
44921600 | Luyh& gitwap ac wnuh 100 1000 10
39263200 gpwublywlwih ghpp A4 QL hwn 1200 9600 8

39263600 qnswdwl QL huwin 200 4000 20
30192125 dwplbp 4 gyt QL hwitjwp 100 3000 30
43231100 uljpbiy Q< unuf 180 5400 30
30192133 unh q< hwwn 150 3000 20
30192160 | puphfu a< Zunn 150 15000 100
30197622 e A4 bwlunpwiht nhuyndh Q< hwn 40 8000 200
30192231 ulng 1 Qg <win 200 6000 30




30192231 ulyng 2 Q< <win 150 3000 20
30194500 puitint Q< Zwin 300 15000 50
30197120 nquidutp q< wnnuh 160 3200 20
3018751 unjunwenu 1 Q< hwwn 150 7500 50
30197511 unjwpwpenue 2 Q< hwwn 200 6000 30
30192700 Yuindwi Q< hwn 140 7000 50
30192700 blbwwpnp pnuyes QL hwwn 2000 8000 4
30199290 Spwn thnpp QL hwin 8 3200 400
22851100 wpwgwljup? Q< huwin 72 50400 700
22851100 wpwguljwn q< huwin 55 5500 100
Stunbuwljwi 0
39831243 | Luwgph thngh ac wnuh 320 32000 100
33141118 | Uudbinnghly a< huwtn 116,4 58200 500
18421130 nbwnhub dtinting L qnug 165 16500 100
39811100 onh pwniwgnighy < hwin 354 35400 100
39831246 ofiwn hbnnly 5jhinpwing L hwin 930 19800 20
39812600 dwppnn thnghubp (nwluzw 0,5)) G huan 109 21800 200
30831282 thngnt gnp hwn 94,8 284410 300
39831282 hwwnwlh 2np QL hwwn 264 52800 200
39831280 Uupubh wtigne hanniyy Qg huwin 500 75000 150
39831282 Yuhnyp dwppnn hbnndy Q< hwwn 474 47400 100
39831240 dwppnn Unyebip Ywuhy Q< hwwn 770 77000 100
39221480 gniqunwh pnue Q< hwn 65 195000 3000
39221480 qniquinwh funquitivaly Q< hwn 350 10500 30
39831273 hwnwly |Jwtwnt hbnny Qg hwn 450 90000 200




3981100 hwwnwiyh dwshly (dwuwnhlyjw) Q< g 1050 105000 100
18421140 &hnling uwlifun, < anyg 150 30000 200
39836000 wifliy q< huwin 720 57600 80
39839200 gnguphwl wjwundwub Q< hwin 250 7500 30
39514100 | nny; 10 hupwiing a< huwtn 4392 13176 30
39831247 uwbhwug.dwpn.dhgng htinniyh inbupny Q< hwn 500 100000 200
39831247 Lbn muwwnnt 2448 QL hwwn 1320 66000 50
31531300 Lbn puduy 15 4S8 Q< huwtn 676,58 135360 200
31531300 LEr puiduy 13 US q< huwin 598,68 19760 200
31531300 Lbn prwwinnid 848 q< huin 1320 39600 30
31531300 | dwpnwl wwwnh dheh a< huwwn 400 12000 30
31684400 Hwpnwl wwenh Jpugh Q< hwn 4752 14256 30
31684400 Ubgwunhs 1 inkin wwnh dhgh Qg hwin 576 11520 20
31211221 Utigwnhs 1 whin wunh Ypugh ac huwtn 528 10560 20
31211221 £ deymups  dwuwdbt inwppbp gnyup < hwn 160 4800 30
31651400 £l fupnguily win.hnn. G huwn 200 6000 30
31686000 b Yruwn (Gbpwdplyu) < hwin 114 2280 20
31221200 Gplwpwgdwl jwp 4 nbpwng QL hwn 1644 32880 20
31685000 b hwnnpnwwp 2X2,5 QL d 220 66000 300
31321260 bl dugmifu 2X2.5 Q< d 340 34000 100
31321130 by dwgmifu 2X4,0 Q< d 450 45000 100
31321130 Eiywpwlwl gndnp 16 ¢ 20 @ Q< U 72 14400 200
22991180 wyur. whguwinhs16A-20 A Q< hwn 792 23760 30
3121180 Hwpnwyh winuwh wwwnh dheh Q< hwn 62 3100 50
31711480 fp. inbuwntin QL hutn 2844 2844 1




39711240 £1 wjwpwuhly Q< hwin 2444 2444 1
42661400 hwnnprwwph dwpphy Q< huwwn 4244 4244 1
31231100 ujunninwljwhwih hwpuwdn Q< hwtjup 3544 3544 1
44511350 nnuwjybp 1848 9< hwin 724 36200 50
30232270 Tnwpby 24 1S Q< hwwn 844 42200 50
30232270 nnw)ytp 26 1S Q< hwn 2000 40000 20
30232270 Eyn puduy 15 Ele hwin 650 13000 20
31531300 Eyn iy 1 Q< hwtn 650 19500 30
chLUL3Nhfs 0
44112260 Yndhtnputp (wynuihut) uu huin 20000 200000 10
<unucrs<ushL uureudnrnhuuer
35111100 ] Lwlwhpnbhwjhty uwppwynpnutbp Q< i 2016900 2016900 1
uchusuvevtr 0
79821170 Sujwgpuywl U wnwpdwl dwnwnigntubn L o 75000 75000 1
79821170 Sujwapuiywu U wrwpdwt dwnwjnigniuubn < npwud 180000 180000 I
79821170 Sujwgpuw b wrwpdwl Swawjniyznitubp < npwd 138000 138000 1
Twnwjnyznibubp 0
65111100 fudtnt oph pugfunud Lu B 172 2280032 13256
65211100 quigh pugfunud uu u? 120 19008000 | 158400
65311100 Ealwpwlwinye)wt pwztund uu Lddun 50 9000000 180000
71631120 wynndbipbtwbph wbfuthwlywt unngdwu uu rpwid 300000 300000 1
dwnwjnigniutbp
79211150 wnihinnpulwt dwnwjnignitbp Q<L i 948000 948000 1
79411210 qunufubiph hbn Yuwdwd funphprwnygwljw uu wilhu 80000 960000 12
Swnuwnpniubbp
g wlduwbgnew wwywhngdwl dwinwjnyejndibip G wihu 235000 2585000 1
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